(0]

10

1

w

15

17

18

22

23

26

28

29

31

35

ﬁ l%

=i

LN

TRk

(IXR)

(L2L)

(BTTB)

(TXR) ]1_

(BTTB)
I

NRE (FEHAR)

B
FEE]
TIP:N
H#LE
SH
JIlg
ER
Kk

LR

0

(E1®) —0
GE#)
(HazE)
(TXR) —o

(GREX) :;1_

(voL)

(%) 1
I

(TR

(BTTB) —

-

[ T ILR])
1
1=
%
=
33
2

]
—

(518

%
oL— 40
0— 42

— 44
— 46
0— 48
1— 50
53

— 55
0— 56
1— 58
L 60
62

1L— 65
11— 66
L 70

#I
Ak
P
B
A
it
+5

(=18

(FAE)

(IR

(BTTB)

(3=1%)

(REX)
(&S

(TX)

(GE#E)

(#/m)

(IR

T (FAHAE)
(voL)

(F3)

(=

8

B (FAE)

)



